Intermediate Exam - 2021

Model Question paper
Time Allowed = 3 :00 HRS Full Marks - 100

Subject- BMT
Class — XII'™

MCQ Type Question 1x30=30
ag fasedisr uea
SET- 1

Choose the Correct Answer :

JE AT gt |

The value of 1Oc6 1s

a) 210 b) 100

c) 60 d) 1024

10, T T e

a)210 b) 100

c) 60 d 1024

Average Speed can be calculated by
a) x (Arithmatic mean) b) G-M
¢c) HM d) Mode

SNAT IT B ITUTEAT BI ST HAdhdl 8:
a) x (FHATAZT HTE) b) o=z HTE
C) BIAHD HIT d) SIgcTh

Formula of Circular Permutation is

a) |n b) |r
C) |ﬂ d) |n_—1
IR HHAAT Bl I o
a) |n b) |r
c) |n—r d) [n-1
If n. =n._,then value of n is

5 77
a) 12 b) 2
¢) 35 dn

?Jﬁncznc,gbf?'ﬁn?ﬁr?ﬂa%
5 7

a) 12 b) 2



Cc) 35 d) n

10™ term of the A.P.is 2,5.8,11, .......

a) 47 b) 33
c) 37 d) 29
JAATIT 3ghHA 2,5,8,11 ... 10df Ug & -
a) 47 b) 33
c)37 d) 29

Sum of deviation taken from arithmetic mean is Zero

a) True b) False
JAHATeAR AT A AU 9w aciadl T orha e &iar & -
a) AT b) 3=

The value of 4! is

a) 24 b) 30

c) 12 d) None of these

AleBT HTST 2

a) 24 b) 30

)12 d)sadH A PHIs <TEt

Arithmetic mean is always more than geometric mean

a) True b) False
TAHATIT HATET SHM IYONAT ATeT A 3ifdd a1 & -
a) AT b) 3=

1 2 23 .
If A= A:{ } B:{ } then (A +B) will be

-1 3 4 1
4
2) 35 b) 5
3 4 33
3 3
C) { } d) None of these
5 4

i A=A={ 11 2} Bz{ 24 ﬂ then (A +B) & :

35 5 4
i JEN

3 3
c) { } d) None of these



10.

11.

12.

13

14.

15.

16.

If A={1,2,3} and B={3,4} then find ANnB.
a) {1,2,3,4} b) {3} c){1,2} d) None of these

If A={2,4,6,8} and B={6,8,10,12} Find AUB.
a) {2,4,6,8,10,12} b) {2,4,6,8,10} c) {6,8} d) None of these

What is the method which can be used in any type of question of interpolation or
extrapolation?

a) Bionomial Expansion Method b) Lagrange’s Method
¢) Newton’s Method d) None of these

oA e N fafer @ S 3redeT oot A argeone & At st ueke &
ueel H UAOT &bl O Adbdl &

a) fgue fRear fafer b) Sr3reT Tafer
c) =gar fafer d)SeTH A HIs =&l
..... cannot be algebraically

a) Mean b) Median
¢) Mode d) None of these

FolT HUT A i ar AddT :

a) HATET b) FATTE=THT

C) IgcTPH d)seet I BIs &t

The Sum of Square of first n natural number is :

2) n(n2+1) b) n(n+1)6(2n+1)
0 n(n —1)(n —2) d) n(n +1)(n +2)

6
UIH n UTdides JZAT3T & dof obr =AeT 28:

2) n(n+1) b) n(n+1)(2n+1)
2 6

0 n(n —lé(n —2) d) n(n +1é(n +2)

Secular trend cannot be Curve-Linear :

(a) True (b) False

Aefpreller ugfar g IS El 8 Jbdr 2 -

(a) A&l (b) 3Tt

Which of the following relationship is correct ?



17.

18.

19.

20.

21.

a) AM = JGMxHM b) HM = JAMXGM

¢) G.M = \JAMxHM d) G.M :Wr#
foreer A A BleT AT JAdeyg JE & 2

a) AM =\JGMxHM b) HM =JAMxGM
¢) G.M =|AMxHM d) G.M :w

How many Permutations of the letters of the word APPLE are there?

a) 600 b) 120
¢) 240 d) 60

APPLE 9Teg & 378731 & fhdal hHAIT 2 ?

a) 600 b)120
Cc) 240 d) eo

The simplest method of interpolation is graphic method

(a) True (b) False

3Ted=ovTe 1 FRada fafr foeg 3= fafer 2:

(a) &Y (b) sTcTa

If the A.M & H.M for two numbers are 8 & 6 respectively, then G.M will be

a) 16 b) 14

)8 d) 6.93

QAR BT AHAT. dAT EHAT. BHAM: 8 dT 6 & dl IPONAT HIET
srom —

a) 16 b) 14

c)8 d) 6.93

If A={2,3,4),B=1{4,56)then ANB=?

a)4 b) ¢
c)2 d) None of these

afe A=1{2,3,4),B={4,5,6}dr ANB="7?

a) 4 b) ¢
)2 d)ysad I b <ar

The fifth term of the sequence 4, 12, 36 .... is



22.

23.

24.

25.

26.

a) 332 b) 338

c) 324 d) 36
4, 12, 36, ... T Uidgdar e & :
a) 332 b) 338
c) 324 d) 36
7 Po 1s equal to
a) 0 b) -1
) 2 d) 3
7, SRMER 2

0
a) 0 b) -1
c) 2 d 3

Trend analyze refers to long term tendency to :

a) Increasing only b) Decrease only

¢) Either increased d) None of these

3uafa cerfar <rd wmrefter ugplia & ...

a) BAA Tgol Pl b) BacT Ted @t
c)dgal AT Hea bl d)gerdt A BIg A8t
Median is unaffected by extreme values.

(a) True (b) False

HAMSTRT a=A Hodl A TgaTaa 2

(a) AET (b) 3TeTa

In how many ways 4 boys and 3 girls can be seated in a row so that they are alternate ?
a) 144 b) 288

c) 12 d) 256

fohda ddhl A 4 skl AT 3 dIsfhAl Bl Th ufth A Jo=AT oI
AbdT & difcs 9 dbfeuss &l :

a) 144 b) 288
) 12 d) 256

Value obtained by interpolation :

a) is equal to actual value

b) is less than actual value

¢) is more than the actual value

d) is the maximum possible estimate of actual value



27.

28.

29.

30.

arIdides oA bl 3MUBdA AHId 3TgATS -

a) IAdh FHeT B AIET

b) a=afaes T F HA

¢) adfdes FHea A 3ifew

d) arzafaes e BT IMfehdd AHTIT  STTHTS

The seasonal fluctuations are -

a) Periodic and irregular b) Periodic and regular
¢) Not Periodic d) Cyclical

ATt =TT Bl @ -

a) 3Taferes wa 3itferafaa b) 3Taferes wa ferafaa
c) 3TTaieres =T&t d) Trepr=r

YorO=

a) TxSxC-1 b) TxSxCxI

c) T+SXCxI d T-S+C-1

Y= O=

a) TxXSxC-1I b) TxSxCxI

c) T+SXCxI d T7-S+C-1

If X°’-2X?Y?>+5X+Y =5 then @ at X+1&Y=1is

dx

4 -5 4 —4
a) — b) — c) — d) —
) 3 ) 4 ) 5 ) 5
IgJfe X*-2X’Y*+5X+Y =5 ad %atXH&Y:lu? 3

X

4 -5 4 —4
a) — b) — c) — d —
)3 ) , ) 5 ) 5

If £f(X)=X"&f(1) =10 then value of K is -

a) 10 b) -10 C) T d) None of these

afe f(X)=X*&f1)=l0 aaTK BT HT & -

a) 10 b)-10 ) — d) ot F BS ot



31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

Fill in the Blanks
< Zamel Br 13

VSA (FIB) 1X10

The mean of 15 number is 15. If the two numbers are 18 and 12 are excluded. Then the
mean of the remaining number is ..........

15 JASJT3N BT ATST 15 UTAT 9T Al &7 JIHAT 18 T 12 foThrer
& O a9 AW =137 hT ATERT ... BIaTT |

Median of 70, 80, 60, 50, 55, 65, 60, 60, 40,601is .......

70, 80, 60, 50, 55, 65, 60, 60, 40, 60 BT HITEISBT ...... g -
......... ways can 5 men sit around a table -

........ TR A 5 IMEHT TP oddT & ARl 3T J6 Adbd & |

......... Progression is a sequence in which the difference between two consecutive term
is a constant.

.......... 3hdA UH TAT A & TorAA & clonarR ual & g &1 3ide
Tk Rer 3= B

The sequence in which the ratio of two consecutive terms are same is called ..........

AT gepA oA d cenarR udl @ forsafa Jemer & oL grofy
FHEATAT & |
O!Isequalto............

0! AAAT B o

Arithmetic mean is always .......... Than geometric mean .
JAHTAZ HATET EHQT IPUNAT AT A ........ Bar 21
........... gives forecast for the future.

........... Al w1 yatgarer ueTe war 2|

Seasonal variations repeat during a period of .......... Year/years.

............ ad/auf & SR AT afdaar Sesar 2

Very short answer type questions
aifr g 39T uee
2x10=20

In an A.P. If 6™ & 12" terms are 13 & 25 then Find its 21th term.

IJfe At AP. & edaf dam 12daf Us AL 13 3NT 25 B dl SHADBT
20di e foreprat |

The sum of first five term of the series 2,8, 32, ...... 1S cevnn..

AT 2, 8, 32 ...... P UAH Uid Uc bl AT EIoM ?
If n. =n. then 25 18
%o © 5

e n,. =n. da 25 is
90 % €5



44.

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

Find the value of [11 3}
4 2

11 3
4 2

} BT AT Terapret
Write down all Possible subsets of set B = {5, 7}
JAFAAT B AT JForg Iu-AH=t B fo=d B = (5, 7}

State the name of different types of averages -

3NAa b fafdresr gpRl & & aard

Give the formula of Calculating median in a Continuous series.

3rFfSer ot A HeIdT BT IUTET BT JA <2
Give two characteristics of mode
dgcTh Pl &l auary ot
Find the geometric mean of 4 & 9
4 3R 9 I IPUNRT AT A B |
When Binomial Expansion method is used?

feue fa=ar Afd o1 u=ior o fpar &rar 2 2

Short answer type questions

g 3ITAT UL

The first three terms of an A.P. are 20, 16 and 12. Which term is - 96

AP. &b yarH did ue 20,

Find the value of r, if 6 p.= 30

i 6P=3Oﬁﬁremmaaﬁ
r

Evaluate :

1 2
1 3
1 4

AT Teraprer :

1 2
1 3
1 4

4
9
16

4
9

16

r

Calculate the median of the following series

forear Aoy By FHATTeTmT ferprat:

Sx4=20

16 3T 12 & bIed AT U — 96 BAM?

| Size

10-20

20-30

30-40

40-50

50-60

60-70




55.

56.

57.

38.

59.

31ThTT
Frequency 6 20 44 26 3 1

3Tgfer

In a town of population 5000, 2800 persons read Hindustan, 2300 read Prabhat Khabar
and 400 persons read both. How many do not read any newspaper?
paft o8 H, e Seds=m 5000 B, 2800 oI
2300 UATd J(AT eIl 4ooa%aﬁmwuaﬁ§|ﬁ—m?raﬁﬁ
Ppis off THAER-US &l usd B
Long answer type questions
YsT

4x5=20

The quantity of annual production of Sugar in ton is given in the following table. Find
out the missing quantity by appropriate method in interpolation -

Year 1999 2001 2003 2005 2007 2009
Quantity | 44 90 ? 160 270 390

ferger aifctesr & et & afties Iadaea @&A=T edf & & o 2
3rcdderal &t 3RTT Ugld gIR—T 31sTd AT bl UdT NS0 |

as 1999 2001 2003 2005 2007 2009
HATT 44 90 ? 160 270 390
Tl

In a school there are 20 teachers who teach mathematics or Physics. Out of them 12 teach
mathematics and 4 Physics & mathematics. State how many teachers teach Physics?

U faamet & 20 31eqTUch & S oford 31erdar ailfadl dald & | Soldl
A 12 OMUTg demr 4 MNfAddT WA I Ueld &1 IdrSU fohdal 31eATddh
AT yed 2?2

Calculate mean, median, mode from the following table

foTeet dniciael A HATeT, HAINEI®BI, dgcid Tefblal

Mid 15 25 35 45 55 65 75
value
f 6 8 15 7 3 0 1
Find @y =2
dx’ X*+1

—ifY = >
dx X +1



